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CE-1921-11 - Dr. Durant - Quiz 2
Spring 2016, Week 2

(1 point) State the range of immediate widths on ARM.
(1 point) State the maximum memory size allowed by the ARM architecture.
(2 points) The 32-bit word Oxacce55ed is stored at 0x1400. What byte is stored 0x1401?
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register and memory values that change as a result of executing STR R5,[R6,R7]!.
5. (2 points) State the instruction that sets/clears all the ARM condition flags in preparation for
evaluating any relational operation between R1 and R2.

(2 points) R5 contains 0xASAS5AS5A, R6 contains 0x1200, and R7 contains 0x80. Describe all

6. (2 points) Give an example of an arithmetic instruction that writes its result to the destination

register only if the previous compare operation compared two unequal numbers.
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CE-1921-12 - Dr. Durant - Quiz 2
Spring 2016, Week 2

(1 point) State the range of immediate widths on ARM.

(1 point) Describe how position in the modern memory pyramid implies speed and size.

(2 points) The 32-bit word 0x50f7ball is stored at 0x1400. What byte is stored 0x1402?

(2 points) RS contains 0XxASAS5ASA, R6 contains 0x1200, and R7 contains 0x80. Describe all
register and memory values that change as a result of executing LDR R5,[R6].R7.

(2 points) List and briefly describe the 4 ARM condition flags.

6. (2 points) Give an example of a conditional branch instruction and describe what exactly it does.
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